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A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

=(—u® —u® b, w0 e+ M 2wt )

=
=0+1, —u®+u?+a—u, v —u* +2u® —u? +u—1)

* 2 irreducible components of dim¢ = 0, with total 46 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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It =(—u3®—u®+. o4 b—u, v +u3®+.--4a+1, v + 200+ ..+ u+1)

(i) Arc colorings

o ()

ag =

1
a'2 = _u2

az =

a7 =

u38_u37+__._~_7u3+2u2>

w30 4T+ u® —ud —u

—u't — 4u® — 6u” — 2u® + 3uP + 2u
ag = wl + 30 + 4" +u® —ud —u

(
(
(
(
= ()
( :
(
(
(
(

—ull — 4u® — 6u” — 2u® + 3ud + 2u>

(ii) Obstruction class = —1

(iii) Cusp Shapes

= 40 + 703 + 54038 + 82137 + 340036 +462u3° + 1312034 4+ 1616133 + 3403132 43822031 +
6077130462141 +7177u?8 +6582u2" +4494126 4 3388u2° —1027u** — 1627123 — 4964022 —
4460u' — 4186u20 — 34220 — 796u'® — 982u!” 4 94916 + 82u!® 4 258u't — 40utd —
51062 +20ut — 22610 +250u° + 18448 4+ 183w +146u8 + 8u® +26u* — 2u3 +6u2 +10u—1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs utt =2t -1
C2 utt 2400 - w1
c3,Cg,C7 w200 4210 —9
C4,Cy w4+ utl 4+ — 64w — 32
cg, €10, C11 ' —6ut+ - +3u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs y41+24y40+ +y—1
Co gt 1280 ¢ 133y — 1
€3, Ce, C7 y*'' —48y"0 + .. + 81y — 81
c4, Co y*t + 33510 + ... 4+ 512y — 1024
s, €10, C11 Yyt — 44yt . — 5y —1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.364109 4 0.8870011
a= 0.877550 — 0.6096581
b= 0.140178 + 0.2295911

—0.38668 — 1.887701

—0.82834 + 4.089231

u = —0.364109 — 0.8870011
a= 0.877550 + 0.6096581
b= 0.140178 — 0.2295911

—0.38668 + 1.887701

—0.82834 — 4.089231

u = —0.565729 4 0.7446841
a = —1.96011 — 1.230381
b= 1.43778 + 0.032861

—4.81720 — 2.247971

—7.05405 + 3.585121

u = —0.565729 — 0.7446841
a = —1.96011 + 1.230381
b= 1.43778 —0.032861

—4.81720 + 2.247971

—7.05405 — 3.585121

u = 0.298074 4 1.0398001
0.514134 + 0.2736261
b= —0.700394 — 0.5158881

a =

—3.51943 + 0.959351

—11.65925 — 0.887741

u = 0.298074 — 1.0398001
a= 0.514134 — 0.2736261
b= —0.700394 + 0.5158881

—3.51943 — 0.959351

—11.65925 + 0.887741

u = —0.906696 4 0.0623007
a = —0.638168 + 1.0870601
b= 1.59428 —0.292571

—14.7183 4 7.24721

—9.00971 — 3.328311

u = —0.906696 — 0.0623007
a = —0.638168 — 1.0870601

—14.7183 — 7.24721

—9.00971 + 3.328311

b= 1.59428 + 0.292571

u = 0.887554

a = —0.0395218 —9.70106 —8.09810
b= —1.52039

u = —0.881624 + 0.0227691
a= 0.255857 — 1.3532001
b = —0.605844 + 0.876406.1

—7.47580 4 2.917351

—7.30362 — 2.765211




Solutions to I}

V=1(vol + y/—=1C5)

Cusp shape

u = —0.881624 — 0.0227691
a= 0.255857 4 1.3532001
b= —0.605844 — 0.8764061

—7.47580 — 2.917351

—7.30362 + 2.765211

u=0.432258 4+ 1.0333901
a = —0.47465 — 1.538981
b= —0.391212 + 0.6696301

—2.52915 + 5.169951

—7.30241 — 8.374371

u= 0432258 —1.0333901
a = —0.47465 + 1.538981
b= —0.391212 — 0.6696301

—2.52915 — 5.169951

—7.30241 + 8.374371

u = —0.373802 4 1.0572201
a = —1.20238 + 1.819401
b= —1.310670 — 0.1053521

—4.92250 — 3.204901

—9.59732 + 4.056421

u = —0.373802 — 1.0572201
a = —1.20238 — 1.819407
b= —1.310670 + 0.1053521

—4.92250 + 3.204901

—9.59732 — 4.056421

u = 0.525055 + 1.0604301
a = —0.31545 + 2.342661
1.48731 — 0.195991

—8.67231 4 8.225281

—10.03835 — 7.2184271

u = 0.525055 — 1.0604301
a = —0.31545 — 2.342661
1.48731 + 0.195991

—8.67231 — 8.225281

—10.03835 4 7.218421

u=0.195299 + 1.1708201
a= 0.767934 4 0.1916121
1.56724 + 0.104281

—11.13990 — 1.054291

—13.63109 4 0.132451

uw=0.195299 — 1.1708201

a 0.767934 — 0.1916127 | —11.13990 + 1.054291 | —13.63109 — 0.132451
b= 1.56724 —0.104281

u = 0.800839

a= 0.186265 —3.04591 —0.386480

b= 0.436537




Solutions to I

V=1(vol + v=1CS)

Cusp shape

u = 0.128656 4 0.7675611
a= 0.21319 — 1.987841
b= —1.017510 + 0.1911331

—2.24222 + 0.820141

—9.63668 + 2.360481

u= 0.128656 — 0.7675611
a= 0.21319 4 1.987841
b= —1.017510 — 0.1911331

—2.24222 — 0.820141

—9.63668 — 2.360481

u = 0.688250 4 0.3273301
a = —1.66239 — 0.834181
b= 1.48572+ 0.138861

—6.57625 — 3.609291

—7.29460 + 2.695321

u = 0.688250 — 0.3273301
a = —1.66239 4 0.834181
b= 1.48572 —0.138861

—6.57625 + 3.609291

—7.29460 — 2.695321

u = —0.333948 4- 0.6591831
a= 0.690566 + 1.1310801
b= —0.109267 — 0.3492841

0.264887 — 1.3346701

0.48301 + 5.639051

u = —0.333948 — 0.6591831
a= 0.690566 — 1.1310801
b= —0.109267 + 0.3492841

0.264887 + 1.3346701

0.48301 — 5.639051

u= 0457167 4 1.2145701
a= 0.555238 4+ 0.4449511
b= 0.484933 — 0.0529731

—6.61640 + 4.503901

—3.48122 — 3.674051

u= 0457167 — 1.2145701
a= 0.555238 — 0.4449511
b= 0.484933 + 0.0529731

—6.61640 — 4.503901

—3.48122 4 3.674051

u = —0.454729 4 1.2579001
a= 0.400211 —0.1189841
b= —0.645598 + 0.8855161

—11.36890 — 1.813601

—10.77547 + 0.1

u = —0.454729 — 1.2579001
a= 0.400211 4 0.1189841
b= —0.645598 — 0.8855161

—11.36890 + 1.813601

—10.77547 + 0.1




Solutions to I}

V=1(vol + /=1CS)

Cusp shape

= —0.478913 + 1.2511301
= —0.91026 + 1.095961
—0.586679 — 0.9090411

—11.19120 — 7.779331

—10.30522 4 0.1

—0.478913 — 1.2511301
= —0.91026 — 1.095961
—0.586679 + 0.9090411

—11.19120 + 7.779331

—10.30522 4+ 0.1

= 0.468114 + 1.2579701
= —1.26020 — 1.206387
= —1.53681 + 0.023131

—13.5218 + 4.82231

—11.32712 4 0.1

= 0.468114 — 1.2579701
= —1.26020 + 1.206381
= —1.53681 — 0.023131

—13.5218 — 4.82231

—11.32712 4+ 0.1

= —0.433062 + 1.2787001
0.599578 — 0.3292321
= 1.61634 — 0.283801

—18.8600 + 2.54151

—12.61033 4+ 0.1

= —0.433062 — 1.2787001
= 0.599578 4+ 0.3292321
= 1.61634 + 0.283801

—18.8600 — 2.54151

—12.61033 4+ 0.1

= —0.503212 + 1.2547701
= 0.78669 — 2.050251
= 1.59379 + 0.312681

—18.3390 — 12.30521

—11.90943 4+ 0.1

= —0.503212 — 1.2547701
= 0.78669 + 2.050257
= 1.59379 — 0.312681

—18.3390 + 12.30521

—11.90943 4 0.1

= 0.470933 + 0.2467661
= 0.87628 4 1.559091
= —0.369677 — 0.4764091

—0.44649 — 1.422411

—3.04926 + 5.009181

= 0.470933 — 0.2467661
= 0.87628 — 1.559091
= —0.369677 + 0.4764091

—0.44649 + 1.422411

—3.04926 — 5.009181




Solutions to I} V—1(vol + v/—1CS) Cusp shape
u = —0.424359
a = —0.373964 —2.34309 —2.85450
b= —1.18396




IL I =(bd+1, —ud+uv’+a—u, v’ —u*+2u —u?>+u—1)

(i) Arc colorings
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(ii) Obstruction class =1

(iii) Cusp Shapes = —2u* + Tu? — 8u? + 6u — 12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! wd —ut 4203 —u? fu—1
C2 u® 4 3ut + 4P o —u—1
s wHut =20 — P +u—1

C4,Cy u®
& w4 ut F2ud 4w Futl

Cg, C7 wWout =20+l tu+1
cs (u—1)°

€10, C11 (u+1)°
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,¢5 3yt A+t -y -1
€2 v -yt 8y — 3y +3y—1
€3, C6, CT v’ =5yt +8y° =3y —y—1
Cq,C9 ys
€8, €10, C11 (y— 1)5
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

u = —0.339110 4 0.8223751
=

0.871221 + 1.107660.1
b = —1.00000

V=1(vol + y=1C)

Cusp shape

u = —0.339110 — 0.8223751
a =

0.871221 — 1.1076601
b = —1.00000

—1.97403 — 1.530581 | —5.00899 + 6.236731

= 0.766826
0.629714

bi

u =

—4.04602
1.00000

—1.97403 + 1.530581

—5.00899 — 6.236731

0.455697 + 1.2001507

= —0.186078 — 0.8746461
b = —1.00000

—9.63840

0.455697 — 1.2001507

a = —0.186078 + 0.8746461
b = —1.00000

—7.51750 + 4.400831

—13.17182 — 3.023107

—7.51750 — 4.400831

—13.17182 4 3.023101

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
‘1 (u® —ut + 20 —u? +u— 1) (M — 20"+ Fu—1)
€2 (u® + 3u® + 4u® +u? —u— 1) (u* + 240" + - u—1)
3 (u® +ut — 203 —u® 4 u—1)(u™ + 20" + - 4 21u — 9)
¢4, Cg W (utt +ut? 4 — 64u — 32)
& (u® +ut + 20 +u? +u+ 1)t =20+ Fu—1)
Ce, C7 (u® —ut — 203 +u® 4 u+ 1) (u™ + 200 + - 4 21u — 9)
Cs (u—1)")(u*t —6u®® + .. 4 3u—1)
¢10, €11 ((u+1)%)(u* —6u™® + - + 3u —1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,cs (W +3y" +4y° +y* —y - D" + 249 + - 4y — 1)
= (v" —y' +8y° = 3y" + 3y — (" — 129"+ +33y — 1)
c3,Cg, C7 (y° — 5yt + 8> — 3% —y — 1)(y*! — 48y* + ... + 81y — 81)
C4, Co Yo (y* 4 33y*0 + -+ 512y — 1024)
€8, €10 C11 (y =) (" —44y® + - =5y — 1)
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